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Question Numbers : (1 to 20)
Note: In questions numbered 1 to 20. a question is followed by data in the form of two

statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an

appropriate choice from (1) to (4) as per the following guidelines:
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(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.
(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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Sub questions

Question Number : 1 Question Id : 3944843538 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is x arational number?

(1) x=b+c

(IT) b and ¢ are trirational numbers.

_:i;..J.J&JJ:‘."‘..QX ‘L_:J,
x =b+tec (1)
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Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 2 Question Id : 3944843539 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In the adjacent figure what is the area of the square ABCD?

(I) AC=16¢cm
AC =16 0. 0.

(IT) The areas of the circles C; and C; are in ratio of 4:1

e tnl SKFIABCD sl §

e :
A G2 B
D C
AC=16cm (I
AC=16
e el 3K L ConCy (ID
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4

Question Number : 3 Question Id : 3944843540 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



fx) is a polynomial with integer coefficients. Is (x+2) a factor of fix)?

M fix)=2x"+ b +ex’ +dx +e

(IT) 8b—4c+2d—-e=32

- (x+2) a factor of {x)¥xCoefficient Polynominal £if{x)

fix)=2x" + b’ + e’ +dx +e (1)
8b—4dc+2d—e=32 (ID)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 4 Question Id : 3944843541 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Find the area of the sector?

(I) Length of the arc = 1 unit.

(II) Radius of sector is six times length of arc.

b 3

Length of the arc = 1 unit. ([)

Radius of sector is six times length of arc. (]I)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 5 Question Id : 3944843542 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A person can puchase three articles for Rs.49. What is the price of the costliest article?

(D) The cost price of two articles each 1s Rs.1 less than the cost price of the
costliest article.

(IT)  The cost price of costliest article is 6.25% more than the cost price of the
cheapest article.
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Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 6 Question Id : 3944843543 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is the polygon ABCD a trapezium?

(I) It has a pair of parallel sides.

(II)  Two of its sides are equal in length.

_f.trapezi11111_.{r polygon ABCD ‘L,-"’
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Options :
1. % 1
2. %2
3.%3
4. v 4

Question Number : 7 Question Id : 3944843544 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the median of the frequency distribution?

(I) Its arithmetic mean is 57.

(IT) Its mode is 55.

-« \'25§ frequency distribution g
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550 aD

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 8 Question Id : 3944843545 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the positive integral value of x ?

() 39<7x+3<46
(I) 25 <x’<49

- -

te=d positive doatf x

-

39<7x+3<46  (I)

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 9 Question Id : 3944843546 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the LCM of two numbers «a and b7

(D The GCD of a and b 1s 3.

(I) aisevenandbd is odd.

0 e LLCMS a + b

The GCDofgand b1s 3. (D

a 1s even and b 1s odd. (11)

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 10 Question Id : 3944843547 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the digit in the Ten’s place of the number n ?

@  n>100

(IT)  n gives remainder 69 when divided by 100.
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n>100 (1)

< tr693L6nIZ by e” = 1001 (D

Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 11 Question Id : 3944843548 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If 4 is a square matrix. what is det 47

(I det SA =45

(II) det 10A = 360

-g..t.wgdet Adssquare matrix a S
det 5SA=45 (D

det 10A =360 (D
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 12 Question Id : 3944843549 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



How old is Rakesh now?

(I) Seven years ago. Rakesh was older than Suresh by eight years.

(IT)  Presently Rakesh is thrice as old as Suresh.
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Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 13 Question Id : 3944843550 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Find the cost of two benches and three chairs?

(I) The cost of 5 benches. 10 chairs 1s Rs.17500.

(II) The cost of 7 benches. 11 chairs is Rs.27500.

_:ijyb”;.g:ﬂg[}/L,J::“/uf;;le:HChES LX)

- 175004 Uz /10 ssbenches 5 (1)

-.»‘_--2?500:.«{:"uﬁu,ffllﬂ! benches 7 (II)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 14 Question Id : 3944843551 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Find the value of

O x=-—

I x+y =12
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SAretedy —
§ av x+y
4
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}l
c+y =12 ()

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 15 Question Id : 3944843552 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Find the volume of the cone C
(I) Height of C= radius of C

(IT)  Volume of the cylinder. whose radius and height are same and C. is
3
300 cm.

S ;_y’(f ¥ ConeC
Height of (> radius of C' (I)

300 ent’ *Cl sl U ol saradius Z.;_;’?(’-?sﬁf»‘-f_“ﬁ (1D

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 16 Question Id : 3944843553 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (



What is the number of elements in the set 47

(I) Number of elements in A U B is 35.
(IL) Number of elemts inB— A 15 7.

(Here B is also a set )

_;/f;b’q.rﬂﬂu/ﬁfﬁ}rﬁuﬁ set A

Number of elements in A U Bis 35 (1)
Number of elemts in B— A is 7 (1D
-;;.Sﬁi.gdf B (ke

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 17 Question Id : 3944843554 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the value of Cos*@+ Sec’@ ?

(I  sin’#+Ccos’d=1

(IT) Cos 8+ Sec@ =2

e d CCos’o+ Sec’d

Sin“6+ Cos’8 = 1 (D

Cos 8+ Secf =2 D

Options :
1. % 1
2.9 2
3.%83
4. % 4

Question Number : 18 Question Id : 3944843555 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is cost price of the article?

(I) It 1s sold for Rs.X at a loss of 20%.

(IT) If it is sold for Rs.(X+50) the profit would have been 10%.
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Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 19 Question Id : 3944843556 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If a set X has 22 elements and A is a subset of 3. then what is the number of subsets

of X that are disjoint from A?

-
subsetZ X swsubsetéX ¢ A siuselements 22 Zset L1/

_J:’;r;ﬁk:.Cf\fJi h_.é:;:.(_-}!-:.l_f(;!ﬁ

(I) Set A has less than 10 elements.

(IT)  The largest subset of X disjoint from A has 14 elements.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 20 Question Id : 3944843557 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the value of ¥ 7

(I) x =2y +z.
(I x=(y— 1)} andx=8.

x=(y— 1)° sodain x = 8.

-,-,—J}Jb"' < Qxi.._f.-—é df}f“

Z=2wFg (D
x=(y—1) and x=8. ()

Options :

1. % 1

2.9 2

3.%3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 394484359
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3944843558 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



CAR : 040219 = LOT :

(1) 131621
(2) 131520
(3) 131620
(4) 121621

CAR : 040219 :: LOT :

131621 (1)
131520 (2)
131620 (3)

121621 (4)

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 22 Question Id : 3944843559 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



BMS:ZKQ:  :AXY

(1) CZA
(2) DAB
(3) CYD
(4) BAD
BMS:ZKQ:  : AXY
CZA (1)
DAB (2)
CYD (3}
BAD (4)
Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 23 Question Id : 3944843560 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



(1) fn
(2)e.m
(3)d.m
(4)e.n
C. R t
f.n (1)
em (2)
d.m (3)
e, n(4)
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 24 Question Id : 3944843561 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Foot : Inch :; Year:

(1) Decade
(2) Day
(3) Week

(4) Month

Foot : Inch :: Year :

Decade (1)
Day (2)
Week (3)

Month (4)

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 25 Question Id : 3944843562 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



(6,;7)+21 2(B.9):
(1) 27
(2) 36
(3) 45

(4) 38

(6.7):21::(8.9):

27 (1)
36 (2)
45 (3)

38 (4

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 26 Question Id : 3944843563 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



GASKET : JISFER :: PERSON :
(1) RUMNIQ

(2) RSMOIQ

(3) NUQTOP
(4) RUPIIS
GASKET : JISFER :: PERSON ;
RUMNIQ (1)
RSMOIQ (2)
NUQTOP (3)
RUPIIS (4)
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 27 Question Id : 3944843564 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



PRINT : 86 :: NOVEL :

(1) 78
(2) 83
(3) 85
(4) 88
PRINT : 86 :: NOVEL :
78 (1)
83 (2)
85 (3)
88 (4)
Options :
1. %1
2. %2
3.% 3
4. ¥ 4

Question Number : 28 Question Id : 3944843565 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



:pon :: DCB : hgt

(1) 1kj
(2) LKJ
(3) IKT
(4) LKj
:pon :: DCB : hegf
Tkj (1)
ILKJ (2)
IKI (3)
LKj (4)
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 29 Question Id : 3944843566 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



CAM : USE :: SAT :

(1) KTM
(2) JRM
(3) KSL
(4) LTR
CAM : USE :: SAT :
KTM (1)
JRM (2)
ESL (3)
LTR (4)
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 30 Question Id : 3944843567 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A2101U0 : B2002T :: C1703Q - B S

(1) 1917
(2) 1918
(3) 1916
(4) 1919
A2101U : B2002T :: C1703Q : R S
1917 (1)
1918 (2)
1916 (3)
1919  (4)
Options :
1. % 1
2.¥2
3.% 3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 394484360
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3944843568 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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(Hx®—3x2+3x—-1=0
2)x* —3x*+3x+3=0
@B)x*—6x2+12x—8=0

@D x*+6x>+12x+8=10

x*—3x2+3x—-1=0(1)
x*—3x2+3x+3=01(2)
xP—6x2+12x—8=0(3)

x4+ 6x*+12x+8=0 (4)

Options :
1. %1
2.¥2
3.%83
4. % 4

Question Number : 32 Question Id : 3944843569 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 33 Question Id : 3944843570 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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(1) 3223

(2) 3443

(3) 3663

(4) 3883
3223 1D
3443 (2)
3663 (3)
3883 (4)

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 34 Question Id : 3944843571 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

-/ _E¥ odd thing eeir35:31 ud



(1) Flute

(2) Vielin

(3) Veena

{(4) Mandolin
28 (D
Violin (2)
Veena (3)

Mandolin (4)

Options :
1.¥ 1
2. %2
3.%83
4. % 4

Question Number : 35 Question Id : 3944843572 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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(1) Fish
(2) Frog
(3) Turtle

(4) Allegator

F
S (@
i 3)
Allegator ﬁ;@-‘-! (4)

Options :

1.¥1

2. %2

3.%3

4. % 4

Sub-Section Number : 4
Sub-Section Id : 394484361
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 3944843573 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf.f,_f.!‘l,ﬂtg;u.ﬂ";gb‘j!'f’f'ﬁugl-ufilé!{lfﬁ'-.{';b”}"’ 45 1 36 oy



0, 28, 126, 344,

(1) 578
(2} 742
(3) 916
(4) 1332
0, 28. 126. 344,
578 (1)
742 (2)
916 (3)
1332 (4)
Options :
1. %1
2. %2
3. %3
4. 4

Question Number : 37 Question Id : 3944843574 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf{:;i_:”{,iJﬂﬁqb‘j}'fgjuij'_ufi;;!{.ufu’ug’&mf 45 1 36 o9
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Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 38 Question Id : 3944843575 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf{:;i_:”{,iJﬂﬁqb‘j}'fgjuij'_ufi;;!{.ufu’ug’&mf 45 1 36 o9

100. 110, 1000, 1001,
(1) 1010
(2) 1100
(3) 1101

(4) 1110

100, 110, 1000, 1001,

1010 (1)
1100 (2)
1101 (3)

1110 (4)

Options :
1.¥v 1
2. %2
3.%3
4. % 4

Question Number : 39 Question Id : 3944843576 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf{:;i_:”{,iJﬂﬁqb‘j}'fgjuij'_ufi;;!{.ufu’ug’&mf 45 1 36 o9

101.103.  .109.113,127. 131
(1) 111
(2) 105
(3) 103
(4) 107
101.103. . 109. 113, 127. 131

111 (1)
105 (2)
103 (3)

107 (4)

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 40 Question Id : 3944843577 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf{:;i_:”{,iJﬂﬁqb‘j}'fgjuij'_ufi;;!{.ufu’ug’&mf 45 1 36 o9

225.16. 169, 36, 121, 64. 81,
(1) 88
(2) 92
(3) 96

(4) 100
225. 16. 169. 36, 121. 64. 81.

88 (1)
92 (2)
96 (3)

100 (4)

Options :
1. # 1
2. %2
3. %3
4. ¥ 4

Question Number : 41 Question Id : 3944843578 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf{:;i_:”{,iJﬂﬁqb‘j}'fgjuij'_ufi;;!{.ufu’ug’&mf 45 1 36 o9

10.30. 150, . 11550, 150150
(1) 1050
(2) 10100
(3) 10350

(4) 10550

10,306, 150, . 11550, 150150
1050 (1)
10100 (2)
10350 (3)
10550 (4)
Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 42 Question Id : 3944843579 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

-:,f{:i’a;”{,uéqﬁﬂ;;ir”'z‘:uiéi_u;fi;;!;u’pﬁugi;EJ!r' 45 1 36 o9

R 15 15
3 5 11 17 2o —

. 2
(1) IE
7 I
(2) 141
2
(3) 17
2
3 b
AL
3 5117 17 T —
2
lg (1)
z )
7 @
2
IE (3)
2
lﬁ 4
Options :
1. %1
2.9¥2
3.% 3
4. % 4

Question Number : 43 Question Id : 3944843580 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

-:,f{:i’a;”{,uéqﬁﬂ;;ir”'z‘:uiéi_u;fi;;!;u’pﬁugi;EJ!r' 45 1 36 o9

CAUCHY. | IKIUDY. LPPDOL
(1) FECLSL
(2) FFBSTU
(3) FFBLSL
(4) FECLSL
CAUCHY, JKIUDY, LPPDOL
FECLSL (1)
FFBSTU (2)
FFBLSL (3)
FECLSL (4)
Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 44 Question Id : 3944843581 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

_Lf{:;i_:”{,iJﬂﬁqb‘j}'fgjuij'_ufi;;!{.ufu’ug’&mf 45 1 36 o9

aeuol. . laguo. euoia
(1) uoiae,
(2) uoiea
(3) uicae

(4) uoeia

aenoi. . laeuo. enoia

uoiae. (1)
uoiea (2)
uioae (3)

uoeia (4)

Options :
1.v1
2.% 2
3. %3
4. % 4

Question Number : 45 Question Id : 3944843582 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

-:,f{:i’a;”{,ué,.-rb-‘ﬂir”i;a_,ié!_u;fi;;!;u’p&.gﬂ;H!r’ 45 1 36 o9

0, 6. 24. 60, 210
(1) 84
(2) 96
(3) 120
(4) 180
0, 6, 24, 60, S
84 (1)
96 (2)
120 (3)
180 (4)
Options :
1. %1
2. %2
3.¥3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 394484362
Question Shuffling Allowed : Yes

Question Id : 3944843583 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 48)



The following graph depicts the profits earned by a company through exports i the

past six years. Based on this data. answer the questions 46.47 and 48,

= 50 Profits earned by a company 4
v a0
g “ 30 30
c 30 25
v
= 5
o 10
%
0
Year ¥ 2 3 4 5 6
—mi011th 5 25 30 30 45 40
w 50 Profits earned by a company 45
s 40
g 44 10 ETH)
£ 30 25
i 20
o
2 10 .
g
Year 1 2 3 4 5 b
=G rionith 5 25 30 30 45 40

}L-;.JJI:‘JIU,?JW:.:J,«!JJ;.JVG PLE’]J?U?I&PLJ;I’-{'J{/J_)J

e 2l e L4850 46,47 4

Sub questions

Question Number : 46 Question Id : 3944843584 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (



The approximate yearly average of the profits through exports (in crores of rupees) 15
(1) 29
(2) 32
(3) 33

(4) 34

_..;,y’_,-;w L (L,,',:‘.-}.u:fﬁﬁbﬂlg:.ruﬂ,u LlLf__.«:j..'.-;f

29 (1)
32 (2)
33 (3)

34 (4)

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 47 Question Id : 3944843585 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



. 11 Eh . . .
In which vear (2" year to 6™ year) the increase in the profits was maximum when

compared to that of previous year?

(1) i year
(2) 4t year
(3) 3¢ year

(4) lnd year

e 2T SBE I BB s a3 S A U# (2% 6Bt

5™ year Sy )
1" year EUEz Q)
3%year L4 (3)
2 vear e 2 (8)

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 48 Question Id : 3944843586 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



When compared to the first 3 years what 1s the merease percentage in the profits to the

last three years?

: 1
(1) 89 %
(2) 90
) 2
(3) 913
; I
(4) 923
b P o - T -y =
Kl LIS 2 a1 e f &
i
89 = (1)
1
905 (2)
2
91§ (3)
1
923 (4)
Options :
1. %1
2. %2
3.¥3
4. % 4
Sub-Section Number : 6
Sub-Section Id : 394484363
Question Shuffling Allowed : Yes

Question Id : 3944843587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (49 to 53)



The following Pie-chart shows the budget allocation of a company under different

heads P.Q.R.S.T in one financial year. Based on the information given, answer the

questions from 49-53.

Budget allocation of a company under different heads
P | 100"
Q | 85°
R | 70°
s | 60°
T | 45°

5«7

P.Q.R,S, T gz il 2t/ 65 A It L LiPie-chart }5.
_3"6:,{_.I:?Z..:aﬂlr49—53_glﬁd/¢xbl’”?_ﬁ’%:_;J;r/.;dbgyhgl

Sub questions

Question Number : 49 Question Id : 3944843588 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (



The amount allocated to ‘Q” 1s what percent of total budget?
? 7
22 L
(2255

11
b W e i
(2) 237

13

(3) 22

(4) 23~
: 18

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 50 Question Id : 3944843589 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If the amount allocated to the head °S’ 1s Rs.18 lakhs. in an year. then the amount

allocated to the head ‘P’ in that year (in rupees of lakhs) i1s

(1) 20

(2) 24

VP B S e f P s n1822 bt seF Lu S L)
-dﬁﬁ

20 (1)

24 (2)

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 51 Question Id : 3944843590 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The amount allocated to the head ‘R’ 1s Rs.24 - lakhs in a year, then the total budget

in that year (in crores) is

(1) 1.08
(2) 1:12
(3) 1.20

(4) 1.26

—gﬁ'l‘r:'ﬁ“ﬂ/db’u#';?“rﬂz‘:l ]ffzr;«é!fdﬁ-‘uﬂhfhead ‘R’ulqu’f/ﬁ

1.08 (1)
1.12 (2)
1.20 (3)
1.26 (4)

Options :

1. %1

2. %2

3.%83

4.9 4

Question Number : 52 Question Id : 3944843591 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If the total budget in an year is Rs.2.7 crores. then the difference between the

allocations of heads S and T (in lakhs) 1s

(1) 12.5
(2) 12.25
(3) 11.5

(4) 11.25

LS Sheads S, T iwin /2.7 €nas dzds™/

12.5 (1)
12.25 (2)
11.5 (3)
11.25 (4)

Options :

1. % 1

2. %2

3.%3

4.¥ 4

Question Number : 53 Question Id : 3944843592 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The total amount allocated to heads ‘P” and *S’, put together is what percent of the

total amount allocated to the remaining heads?

(1) 75
(2) 78
(3) 80

(4) 90

Bl $usd K(ZJ—? i]lﬁﬂdﬁiﬁ;;?_.@yj[ﬁgfgxﬁd‘ﬁdfé S P S
75 (1)
78 2)
80 (3)

90 (4)

Options :

1. % 1

2. %2

3.¥3

4. % 4

Sub-Section Number : 7
Sub-Section Id : 394484364
Question Shuffling Allowed : Yes

Question Id : 3944843593 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (54 to 55)



Consider the following venn diagram representing three sets A.B. C. Based on the

mformation given. answer the questions 54 and 55

5

C
A- Students of a school play Football
B- Students of the same school play Basket ball
C- Students of the same school that play Cricket.

Wsss iscts A, B, C.:_-_r}’J»’Lstctsufﬁﬂifvcml diagram };—~

-J::;EI:?E.SS;:I54:#Ui:'4;l;-::df:.~bl’”ﬁ_.ﬁ&__.;

BHENBELJE (A
aHhebsa L)1 (B)
wHSE LA (©)
Sub questions

Question Number : 54 Question Id : 3944843594 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The number of students who play Cricket and Football but not Basket ball is

e T - : - {‘" -

- St dl L iuB M S Sandufug 54 5
7 (1)
9 )
5 (3)

12 (4)

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 55 Question Id : 3944843595 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The number of students who play either Football or Basket ball 15
(1) 63
(2) 70
(3) 68

) 75

_di-ut-i.fu-}dlr._tﬁngi?g’!@kjg;jﬁ)u;”&/uﬁ

63 (1)
70 (2)
G638 (3)
75 (4)

Options :

1. %1

2. % D

3.% 3

4.9 4

Sub-Section Number : 8

Sub-Section Id : 394484365

Question Shuffling Allowed : Yes

Question Id : 3944843596 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (56 to 60)



English alphabets (26) are arranged along a circle, Then each vowel 1s coded to its
next second vowel in clockwise direction while each consonant is coded to its next
consonant in clockwise direction. For decoding the inverse process can be followed.

Using this coding procedure answer the questions 56-60.

JlﬁvLuf’x_/,-;fur“’,,‘—.,.:ugZ’%;.,.;.Fl_;:fdf;b,{l_i,-idgﬁ
3P L Decoding « 122 F-Z Consonant S >« 2t er

Aozl ey nd S 3 L Coding e b Ue1f

Sub questions

Question Number : 56 Question Id : 3944843597 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (



Code word for LARGE 1s

(1) MISHU
(2) MISHO
(3) MISHA
(4) MISHE
MISHU (1)
MISHO (2)
MISHA (3)
MISHE (4)
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 57 Question Id : 3944843598 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Code word for SMALL is
(1) TINAOO
(2) TMIOO
(3) TNINN

(4) TNIMM

—e U KCoded £ SMALL
TNAOO (1)
TMIOO (2)
TNINN (3)
TINIMM (4)
Options :
1. %1
2. %2

3. %3
4.¥ 4

Question Number : 58 Question Id : 3944843599 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which word 1s coded as CITO?

(1) BATE
(2) BOSE
(3) BASE
(4) BESA
et L CITOsUY
BATE (1)
BOSE (2)
BASE (3)
BESA (4)
Options :
1. % 1
2.% )
3.¥3
4. % 4

Question Number : 59 Question Id : 3944843600 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Code word for QUARANTINE 1s
(1) REISIPVUPO
(2) REISIOVUPO
(3) REISIUVOPO

(4) REISIRVUPO

~e U3 U 2 ZQUARANTINE
REISIPVUPO (1)
REISIOVUPO (2)
REISIUVOPO (3)
REISIRVUPO (4)

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 60 Question Id : 3944843601 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Code word for CORONA VIRUS 1s
(1) DASAPIWUSET
(2) DASAPI WUSIT
(3) DASAPI WUSIV

(4) DASAPI WUSTW

Code word for CORONA VIRUS
-;‘.‘._LTL::HL-' BRI L S rlals )/

DASAPI WUSET (1)
DASAPI WUSIT (2)
DASAPIWUSIV (3)

DASAPI WUSIW (4)

Options :

1.¥1

2. %2

3.% 3

4. % 4

Sub-Section Number : 9

Sub-Section Id : 394484366
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3944843602 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certamn code. CALIFORNIA 1is coded as GWPEJKVIMW . The code word for
ANDHRA 1s

(1) EHVIDW

(2) EIDHVW

(3) ETHDVW

(4) AHIVDW

< tel3 b ZGWPEJKVIMW SCALIFORNIA 43/ P
- eI Coded £ ANDHRA

EHVIDW (1)

EIDHVW (2)

ETHDVW (3)

AHIVDW (4)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 62 Question Id : 3944843603 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If 18907 1s coded as BITAH then the code for 25836 is
(1) FIKLM
(2) CFIDG
(3) DCGHI

(4) EHIVDW

K32 L£25836 2 LUSYBIJAHL#418907./)
FIKIM (1)
CFIDG (2)
DCGHI (3)

EHIVDW (4)

Options :
1. # 1
2.¥2
3.% 3
4. % 4

Question Number : 63 Question Id : 3944843604 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If TRIGONOMETRY is coded as UTLKTTVUNDCK. then TRIANGLE will be
coded as

(1) UTLSESMN

(2) UTLESSMN

(3) UTLSEMSM

(4) UTLESMSM

LU UTLKTTVUNDCK S/ TRIGONOMETRY.|
SUYTRIANGLE

haw

~ilels

UTLSESMN (1)
UTLESSMN (2)
UTLSEMSM (3)

UTLESMSM (4)

Options :
1. % 1
2. %2
3.%3
4.v¥ 4

Question Number : 64 Question Id : 3944843605 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If BLACK 1iscoded as 2515262416, then RED is oded as
(1) 092223
(2) 082122
(3) 072021

(4) 092122

K2 bWBUYREDIZLU352515262416.4 BLACK

092223 (1)
082122 (2)
072021 (3)

092122 (4)
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 65 Question Id : 3944843606 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If HIGH 1s coded as 08090708, then "DARE’ 1s coded as
(1) 04011805
(2) 04011705
(3) 04011605

(4) 04011505

KLy UYDARETZ by 2 £08090708 HIGH.
04011805 (1)
04011705 (2)
04011605 (3)

04011505 (4)

Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Sub-Section Number : 10

Sub-Section Id : 394484367
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3944843607 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

) g lata oo Al gl g A S



In a certain leap year the first day of the year was Sunday. On what day was the 2™ of

March 1 that year?

(1) Thursday
(2) Friday
(3) Saturday

(4) Sunday

Ll YA U9 B At s bt Leap Z e

_-_,;/'{ (1)

£ (2)
2 (3)
A9 (4)

Options :

1. # 1

2.¥2

3.%3

4. % 4

Question Number : 67 Question Id : 3944843608 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

) g (e o Al g) i ¢ S



The angle between minutes hand and hours hand in wall clock (in radians) at 9.56 am

is

_KxAngle LY¥9.56 am uyulu}fm:ﬂd Wall clock u’f

197

o
m
S g
g1
T
—(3
16
¥
coseld 3
Options :
1.v 1
2. %2
3. %3
4. % 4

Question Number : 68 Question Id : 3944843609 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

Y g Bla0a r,__..qd.nlﬁiﬂdh;lij'f&tji



A clock gains time uniformly. It was observed to be 2 minutes slow at 12.00 pm on
Monday and was 4 minutes 48 seconds fast at 2.00 pm on the next Monday, When

did the watch show the correct time?

(1) Friday
(2) Thursday
(3) Wednesday

(4) Tuesday

&P er20412.00 pm L s sl ze (b ULt 4 L
S TR E § 0 F i A8042_2.00 pmS s 1o

-z (1)
_-'.J/'?- (2)
.»-*f..flgf’_. 3)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 69 Question Id : 3944843610 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
Date, Time & Arrangement Problems

) g et oo lalBSH gl g f A S



A 1s B's sister. C 1s B's mother. D 1s C’s father and E 1s D’s mother. then how 1s A

related to D7

(1) Grand father
(2) Grand mother
(3) Daughter

(4) Grand daughter

e 2N DEASE e D Eee ibC ‘B dB ‘A

by (1)
g (2)
TN G)
g7 @)

Options :
1. # 1
2.%2
3. %3
4.v 4

Question Number : 70 Question Id : 3944843611 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

N g Blata oy LW gh g ¢ A S



Mr. A left home for the bus stop 25 minutes earlier than usual. It takes 15 minutes for
A to reach the bus stop. A reaches bus stop at 8.30 am. What time does A usually

leave house for the bus stop?

(1) 9.00 am
(2) 8.50 am
(3) 8.40 am

(4) 8.35am

IAI o Lt fe Shod5 /e §™ e A
S I A L (38.30 am AP AL s K 15L L ZE i

cetbe 42250 b b

9.00 amg (1)
8.50 améﬂ 2)
8.40 améﬂ (3)
835 amé (@)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 71 Question Id : 3944843612 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Date, Time & Arrangement Problems

) g lata oo Al gl g A S

Mr A came 34 minutes before the time at which a board meeting 1s scheduled. Mr B
arrives to the meeting 25 minutes later than Mr.C who arrived 7 minutes before the
scheduled tume of that board meeting. If B arrived at 11.03 am. then the time of
arrival of Mr.A is

(1) .10.11 am

(2) 10.45 am

(3) 10.38 am

(4) 11.03 am

$225Cp I BB o S w38 s LBt A
AT 311,03 BNl d Lol Bedl ool 2e e
_E’ﬂg_"ﬁﬁ/g*

1123.11511111?:.,rfp (1)
10.45 am 5 (2)
10.38 am Cﬂ (3)
11.03 am zf (4)

Options :
LV
2.% )2
3.%3
4. % 4

Question Number : 72 Question Id : 3944843613 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (



Date, Time & Arrangement Problems

) g lata oo Al gl g A S

A church bell rings at regular intervals of 50 minutes. It rang at 7.00 am after that
there was a technical problem with the bell and 1t was rectified at 8.45 am. When will

the bell ring between 10 am and 11 am ?

(1) 10.20 am
(2) 10.30 am
(3) 10.50 am

(4) 10.40 am

SEE £.7.000) e §F 55 250§ s church bell £
11108 S St 2 845 nen LY 3L e ms

_Uﬁé.;!‘lfu;

10,20 amg (1)

10.30 am Ca (2)

A

10.50 am (3)

(=
10.40 am Ef (4)

Options :
1.v'1
2.% 2
3.%3
4. % 4

Question Number : 73 Question Id : 3944843614 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Date, Time & Arrangement Problems

) g (e o Al ) i ¢ S

Fm%‘i- l.definea*bh = %—!E—;+z—5+ ...then 4*%6=
(1) >
i 2
(2) 3
(3) 1
@3

2SS E/:.-F:L——‘g}f,;:l

1

;M
273
@
1 1(3)
6
L))

Options :

1. %1

2.% 2

3.%3

4.4 4

Question Number : 74 Question Id : 3944843615 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

O g (e oo LA g) iy ¢ i S



If xAy =|x|v+x |y|-(xty)forxy € R, then _?Eﬂ% =

(1)1
@5
(3)3
@3
-.;/J’f:,l,-LJJg/.J- I sti sl
1(1)
=)
- (@)
1
53
1
il
Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 75 Question Id : 3944843616 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

) g (e o Al g) i ¢ S



If a,pB,y and § denote the arithmetical operations +. —, x and -+ respectively then

[(10y4) a (4y4)B6] 6 (50) =

(1) 4
(2) 3
(3) 2
(4) 1
.. . = = - e I
—t, —, X s+ respectively g/ ;;lbfrJf[_,}L?fT,ﬁ, y b /1
[(10y 4) a (4y4)B6] 6 (50)
4 (1)
3(2)
2 (3)
1 (4)
Options :
1. # 1
2. %2
3.%3
4.v 4
Mathematical Ability
Section Id : 39448453
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 394484368
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 3944843617 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=4 QL

[3-{1-a-=)}"}™

(1) 1
(2) X
(3) 1/x
(4) Vx

(=1 ={l=yh 7

'

1 (D
x )

];.' X (3)

Vx @

Note: For this question, discrepancy 1s found in
question/answer. So,this question 1s ignored for all

candidates.
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 3944843618 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=46 L

(zn—l—l:}m (227&) (211 )
{:2”14_1)“ {sz:}

=1.then m =

1 =
f2) n
(3) 2n
@
('2?‘1"‘1}!‘]‘1 (22?‘! ) [:izl‘t ,]
If (2m+Lyn (22m) =1.then m =
' m = o
T
5 (4
no (2)
2n (3)
n (4)
Options :
1. %1
2. % 2
3.¢¥3
4. % 4

Question Number : 78 Question Id : 3944843619 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=43l



Ifa:b=3:7Tandb:c=5:4.then2a ;3b :4c=
(1y6:21 : 16
(Z) 15135 .28
(3) 30 : 105 ;112

(4) 30 : 70 : 81

Ifa:b=3:Tandb:c=5:4.then2a :3b : dc=
28 (30 1 H="a =81 bre=5:4 *

6:21 :16 (1)
15 35 :28(2)
30 :105 :112(3)

30 :70 :81 (4

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 79 Question Id : 3944843620 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

OO



Four men can do as much work as eight women. and three women can do as much
work as four children. If twenty-four women finish a work in 52 days. in how many

days. will the same work be finished by 8§ men. 4 women and & children?

(1) 48

) 38

(3) 50

(4) 40
D4 JMﬁﬂJﬁ Sk Lugat ,af?);:lu[}’gj‘c fl'K,_A L U385 r4
JE LI 6 B 1493 pBoK 3 B F Ss5206 L
-]

45 (1)
38 (2)
50 (3)
40 (4)

Options :

1.¥1

2. %2

3.%83

4. % 4

Question Number : 80 Question Id : 3944843621 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

O



2 1 1
- +
JiI0+2v21 V12—2435 J8— 2415

()7
(2) V5
(3)V3
4) 0
2 _ 1 L L
J10+2y21  J12—235  /8—2V15
V7 (1)
V5 (2)
V3 (3)
0@
Options :
1. %1
2. % D
3.% 3
4. ¥ 4

Question Number : 81 Question Id : 3944843622 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability

=4l



If x = 17 + 124/2 then x2 +i -

(1) 289+2442
(2) 287

(3)  34+2442

(4) 1154
1 ol
x= 17+ 122 then x2+== /I
.2
280+ 2442 (1)
287 ()
34+2442  (3)
1154 (4
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 82 Question Id : 3944843623 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=43l



The number of divisors of 2160 which is of the form 3k. where k& is a positive
integer 1s

(1) 10

(2) 20

(3) 30

(4) 40

. 4 e s Ty i oW il §
-« Integer.=.> k4uge_+lib4:lred 3ks ;WL{dnﬂsnrsLElﬁﬂ

10 (1)
20 (2)
30 (3)
40 (4)

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 83 Question Id : 3944843624 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

OO



The remainder when 5!+ 6!+ 7!+ ---+ 100lis divided by 35is

(1) 0
2) 1
(3) 2

(4) 3

e birnBbgl S 2354 B4 614 714+ 100

0 (1)
1(2)
2.(3)
34

Options :

1.¥ 1]

2. %2

3.%3

4. % 4

Question Number : 84 Question Id : 3944843625 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
=4l



The LCM and GCD of two numbers are 4641 and 21 respectively. If one is greater
than 300. then find the other number.

(1) 273

(2) 283

(3) 293

(4) 299

Jﬁ!/:}?ﬂ?}ﬂﬂbﬁ@uﬁw!}l_{_z1;31464 1= A GCDALCME s sls s

_:f'T’:i”
273 (1)
283 (2)
293 (3)
299 (4)

Options :

1.v1

2.% 2

3.%3

4. % 4

Question Number : 85 Question Id : 3944843626 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
Arithmetical Ability

O



If the GCD of two positive integers m, n is 5. then the GCD of 201m and 2697n is

£2697n 5201 m_x 5 GCDE m,n, Integors =Fss/ |

Ex/GCD
5 (1)
10 (2)
15 (3)
20 (4)

Options :
1. % ]
2.% 2
3.¥3
4. % 4

Question Number : 86 Question Id : 3944843627 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



5+ 1 i
6 + —
4+ —
10
; 18
(1) 3&
g1
T g, S
(2) 406
_ 118
G) Sise
. 169
@ s
1
iz i =
Bk o
8 + —
10
18
Sﬁ (1)
g1
et b
T 406 @)
. 118
Sws G
169
| el
" 496 )
Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 87 Question Id : 3944843628 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
=4 QL



2 M e T
{II—ZEW f?ﬁt—.sz 32

m =
(2) 5
@
(4) 9

(1+2_) =—ef =5 —3.

3
o @
5 Q)
=€)
9 4)

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 88 Question Id : 3944843629 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
oo



The ascending order of the following fractions

1 2 7 13 .
EI—E: f}=a. C=E: d=E 15
(1ya.b, ¢, d
(2)b,a.c.d
(3)d.c.b.a
(4)c.d.ab
AR AP N
- U U7 e OnY LU e
1 2 7 13
B 5 =gt e= gl =g
a.b, c.d (1)
b.a.c.d (2)
d.c.b.a(3)
¢c,d.a.b (4)
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 89 Question Id : 3944843630 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



Ifa <b =c =d = e =aand e=39 then possible value of ¢ is

(1) 29
@) 39
(3) 49
(4) 59

= -
U ﬁg;*f L,,(E-r;. l:'f'l:,!)’}’*u':utjvf}

Ifa<bhb<c<d =<e=<aand e=39. then possible value of ¢ is

29 (1)
39 (2)
49 (3)
59 (4)

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 90 Question Id : 3944843631 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

OO



In a mixture of 450 kg of two food grains A and B. A is 15%. How much quantity

of B (in kg) is to be added to this mixtureso that A will be 5% in the resulting

quantity?
(1) 540
(2) 600
(3) 860
(4) 900
2 23808 18 SBoc 15%0016 At/ F450 ¢ 5 25 L BB oA
2 65 % AT ST L b
540 (1)
600 (2)
860 (3)
900 (4)
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 91 Question Id : 3944843632 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

OO



If 25% of 640 1s 11 less than x% of 15, thenx =
(1) 57
(2) 114
(3) 1140

(4) 570

= - el 2 = I‘"‘
Sfed S x confexPL152x11.025% € 640,

57 (1)

114 (2)

1140 (3)

570 (4)

Options :

1. % 1
2. %2
3.3
4. % 4

Question Number : 92 Question Id : 3944843633 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=k L2



If the cost price of 20 articles is equal to the sale price of 16 articles. then the profit

percentage is

(1) 25
5y 27
(2) 27;
(3) 30
j1
4 32;
LV Al and L ped a6 by 200
25 (1)
‘-'l gl
27-(2)
30 (3)
1:
32-4)
Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 93 Question Id : 3944843634 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

OO



The marked price of article A is Rs.1200 more than its cost price. When a
discount of Rs.300 is allowed. a profit of 20% is earned. To earn a profit of 25%.
the price at which the article A should be sold is ( in Rupees).

(1) 5120

(2) 5400

(3) 5625

(4) 6200

2 s 1258 U300 s e 21120022 ASALLS
bl s J g S YASTE L5 T 25% o el U T 20%7

(uf.u,ﬁ-u)
5120 (1)
5400 (2)
5625 (3)
6200 (4)
Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 94 Question Id : 3944843635 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

O



A B.C started a partnership business where A invests 3 times as much as B and B
; - . : , . .
mvests - of what C invests. The ratio of their profits at the end of the year is

(1Y 2:3:6

P
{ ]
o
[V¥]
| ]
oS

P
i
S
)
I
F_'u

Sl okl =B ‘A ‘e Sls fas KEWS 1) 2SAB,C

. o 3 ) 2 -
_gﬁ:gf.ﬂ? u’:g KJ;Jff,_,_{‘)L.JLf_:".U';UJE/.:L/MEJ.ﬂ?E:. C BJ:F.‘L.L'L‘F

2:3:26 (1)

FiZ:42)

6:2:3 (3

6:1:2(4)
Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 95 Question Id : 3944843636 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

O



; ; ; ; o 3 .
In a partnership business with A B.C as pariners, the capital of A is A of the capital

. . 1 . .
of B + C and capital of B is 3 of the capital of C + A. The ratio of the annual share

of their profits is

(1)5:8:11
(2) 7:10: 11
(3)11:9:8

(4)12:7:9

Bl ioe Ay EB + C o r¥A A E1 A LILABC

Y : 1
- f}fgn:ff"jdUIUCUP!VJL’LF--‘L-#JEJFA?E;:'L/LC + A

5:8:11 (1)
7:10: 11 (2)
11:9:8 (3)
12:7:9 ()

Options :

1. %]

2. %2

3.%3

4. v 4

Question Number : 96 Question Id : 3944843637 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



A tank has two taps A and B. The taps A and B can empty a full tank in 6 hours
and 8 hours respectively. Both are opened at same instant and after 2 hours, B is

closed. Total time taken to fill the empty tank (in hours) is
1
(1) 23
(2) 3
S |
@) 3;

1
@ 4

Se1t U800 6 BAS i s BaAS st Seddy b
E;J};B;JIL@EJJJJ/U; ¥ ﬂ_.iu;‘bi};!_ufé :'JJEL.C)’L,‘;;:’)'/
(& U;BP)_..:".L".YUE’JJ:J"JE{E. iz 8 ﬁ':rj L*;Li?

1
P
2 ()
3 (2)
1
353
1
45 @)
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 97 Question Id : 3944843638 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



A pipe can fill a tank in 16 minutes and a second one fill it 1n 24 minutes. A third
pipe can empty that full tank in 8§ minutes. The first two pipes are kept open for 4
minutes in the beginning and then the third pipe 1s opened. Then the time 1 which
the tank will be emptied after all the three pipes started working simultaneously ( in

minutes) 7

(1) 20
(2) 24
(3) 28

(4) 32

A e b A e 24 N Y ras_e b A tank LIb e 167 | L
/-5.5_h_:_g:d#ffj_igw4f:.:“léu§ué_§,r/dl&g_,r.‘.':.a:*%%ftﬂnkg’!:ﬁfg
rguLgfug_ﬂ: L_,'i:—,lgf’.’ii;. L:Cﬁdh'rtankuu'::.j: ggi.l.gk:df‘g;r:{gf_./f

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 98 Question Id : 3944843639 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
O

Initially Mandeep is at place X and Sandeep 1s at place Y and these two places are
separated by a distance of 825 kms. Mandeep started his journey at 35 khph for 3
hours earlier than Sandeep to meet each other. If the speed of Sandeep 1s 45 kmph

and they met at place Z between X and Y: the distance between Y and Z (in kms) 1s

(1) 505
(2) 460
(3) 435

(4) 405

s W U v g Y P ~1sSandeepusie ¢ X 6 LiMandeep

e WS 2583 42 K35 < Mandeepzbls fousf = G L 42825
_uﬁcfafé'wc.‘;./u_ﬁfm:‘;m&f & 23 Sandeepaet /0K -

ZtY e 5 ZNY X 54 Do i 283 42 K45 6,8 Sandeep /)

_gﬁgyﬁljk‘ﬂé

505 (1)
460 (2)
435 (3)
405 (4)

Options :

1. % ]

2. %2

3.%3

4.9 4



Question Number : 99 Question Id : 3944843640 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
o
A person walking at a speed of 10 kmph stops and rests for 2 minutes after every

kilometer. How much time will he take to cover 6 loms?

(1) 55 minutes
(2) 50 minutes 36 seconds
(3) 46 minutes

(4) 35 minutes 36 seconds

FEpd Ly metrte D 48283 2 K100F L

_ci:,b:;;t(;:;ﬁfbfi Z.L)fé’.ﬁﬁb/}f;{ﬁ & I:'JT’!;T;,_:

<55 (1)
Ui36 2250 (2)
<46  (3)
U336 235 (@)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 100 Question Id : 3944843641 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



35 persons can plant 1500 trees in 7 hours. In how many hours 45 persons can plant

2500 trees?

(1) 15

G 9y25001545 LU E_ e sy 1500080527 3135

-
15 (1)
12 (2)
g (3)
10 (4)
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 101 Question Id : 3944843642 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

OO



Two persons A and B undertook to do a piece of work for Rs.6534. A alone can do
it in 12 days and B alone can do it in 18 days. If they finished that with the help of

C m 6 days. then the share of C m that work 1s (in rupees)

(1) 1484
(2) 1268
(3) 1089

(4) 936

SETIEA S 24060 51,65342L L TS 6 LB st Astfins
253 5 !«‘K{_Ifusjufl_.‘:.t',fuf Ussl Sxﬁfﬁ’ufi@'BJ;if.rfrufuﬁ; 12

(UEUzs) Kol 2KC U BTt 2 Sy fudsb w2l su§C

1484 (1)
1268 (2)
1089 (3)
036 (4)

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 102 Question Id : 3944843643 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



The area of a thombus if its perimeter 15 40 cm and one of its diagonals 15 16 em (in

sq.cm) 1s

(1) 84
(2) 90
(3) 92

(4) 96

F LIl sy # F40L perimeterZ1.3.6rho mbus.{lfl

Kl IS ;Cin?y:_r ;‘-;‘LB; 16 46

84 (1)
20 (2)
92 (3)
96 (4)

Options :

1. % 1

2. %2

3. %3

4.9 4

Question Number : 103 Question Id : 3944843644 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=k L2



Around a circular field of radius 5 meters. there 1s a path of 2 meters wide. Then

the area of the path (in sq. m) s

(1) 127
(2) 157
(3) 187

(4) 24w

KN L 722 P25 Pk I ALK o L

Ut (sq. m)Jy

12m (1)
15w (2)
18m (3)
24m (4)

Options :

1. %1

2. %2

3.%3

4. v 4

Question Number : 104 Question Id : 3944843645 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=dE Lo



Two metallic right circular cones with same base with the radius 2.1 cm. and height
4.1 em and 4.3 cm. have been melted and recast into a sphere. The surface area (in
sq.em) of that sphere is

(1) 49.82

(2) 51.64

(3) 55.44

(4) 56.84

4.1 »::mJ?l;'_;usQ. | Cl]‘l/-'-?j._j.ﬂU_’j:fl?{;iﬁd;bﬂfv"-ff./gf& M43

Kl S A (sq.c111)ijKUFI?Lg:g_:Lb§§u$4.3 cm

49.82 (1)
51.64 (2)
55.44 (3)
56.84 (4)

Options :

1. # 1

2. %2

3.¥3

4. % 4

Question Number : 105 Question Id : 3944843646 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

O



The ratio of the curved surface area and the total surface area of a right circular

cylinder is 1 : 2. If its total surface area 1s 616 sq.cm.. then the volume (in em”) of

that cylinder 15
(1) 1240
(2) 1078
(3) 1028

(4) 976

oylinderix616.5.,5 b2 1e 1 : 236K p Lz 3 K SK o i
S U (ems)A¥

1240 (1)
1078 (2)
1028 (3)

076 (4)

Options :
1. # 1
2.¥2
3.%3
4. % 4

Question Number : 106 Question Id : 3944843647 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

O



If four circular plates of radius § cm are placed such that each plate touches two

other. Then the area of the hallow space between them. in em’, is ( takemr = %}
(1) 21.43
(2) 78.57
(3) 39.28

(4) 60.7

weroplates S bl e LA UKE AL Bs L5 e/

F 22 P, - - ol "o
—+ ( takemr = = ).‘;,rJL"uLu;L.uz*i’dﬁut;u_;ﬁdj v fplates

-
=4
21.43 (1)
78.57 (2)
39.28 (3)
60.7 (4)

Options :

1.v'1

2. %2

3.% 3

4. % 4

Question Number : 107 Question Id : 3944843648 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

O



A window 1s in the shape of a rectangle and mounted by a semi cirele. If the length

of the rectangle 1s 150 cm and the breadth of the rectangle on which the semi circular

: : . . 22
part stands 1s 70 cm. Then the area of the window. in sq.em. 1s (take 1= ?\,l

(1) 10.500
(2) 14.350
(3) 12.425

(4) 18.200

g 215080 et e 2P S e ts 0 window S

Za - i o * < o
(take m = £ )t sq.emikwindow sy 426708028

10.500 (1)
14,350 (2)
12,425 (3)
18.200 (4)

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 108 Question Id : 3944843649 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

=4 4Le



A cylindrical vessel of radius 10 em contains water up to a depth of 25 ecm. A
spherical iron ball 15 dropped into the vessel and the level of water 1¢ raised by 45

cm. The radius of the wron ball (in cms) 1s

(1) 12
(2) 15
(3) 16

(4) 18

e G EN S 225 S 2 E10 S S 0L
&45),@:_’5de¥#L%k)dfjbﬁ';ﬁfur' spherical iron ball [
- (}’”ufuf - 6" A%iron ballurl__.:;,{jﬁgfi

12 (1)
15 (2)
16 (3)
18 (4)

Options :

1. % 1

2.¥2

3.% 3

4. % 4

Question Number : 109 Question Id : 3944843650 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability

o



(102)s +(103)s =
(1) (11100
(2) (11110),

(3) (10110}

(4) (11001 )
(102} + {103}y =
(11100 (1)
(11110} (2)
(10110) (3)
(11001), (4)

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 110 Question Id : 3944843651 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
=k L2



Let mez™ besuchthatm= 29 (mod 72).If m =71 (mod 12)and 0 < r < 12

ri

then s
(1) 5
(2) 5
(3) 10
: 3
) g
S0<r<12 ,‘m= 29 (mod 72). Lehl-@unibsg
’ ] .
— sl = =/m =r (mod 12)
5(1)
L
2 (-)
10 (3)
5
)
Options :
1. % 1
2.% 2
3.3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 394484369
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 3944843652 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Alpebraic and Geometrical Ability



Which one of the following implications 1s false?

()if3+2 =5then1X0=0
(2)if3X 6 =20then2+4+7 =9
(3)if 5X7 =30, then2 +1 =2

(4)if 6X7 = 42then6 ~2=4

WYL 0, O IR (5 25 4 W

if3+2 =5then1X0 =0 (1)

3+2 =5 7 1X0=0
if3X 6 =20then2+7=9 (2)

3X6 =202+7=9"
if 5X7=30,then2+1=2 (3)

5X7=30~2+1=2
if6X7= 42then6+2 =4 (4)

6X7=4264+2=4."
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 112 Question Id : 3944843653 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Alpebraic and Geometrical Ability



The inverse of the statement (p Agq) = (g —71)
() pAlg—r)
2)rA(p—q)
(3) gA(r—p)

@ rhig—-p)

st A q) = (@ — )b/l

pA(q—1) (1)
rA(p—q)(@2)
gA(r—p) (3)
rA(g—p) (4

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 113 Question Id : 3944843654 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



Let N denote the set of natural numbers. Define

A={x|x=4n.n€EN}and B={x|x=6n.n€EN}thenA[IB=

(1) {x|x=24n. neEN)
2){x|x=12n:neN)
(3){x|x=2n: n€EN}

(4) The empty set

J_kafu;’}_*{_.gﬁnatural numbers ¥ N
ANB=_—B={x|x=6n,n€N }sA={x|x=4n,n € N}

{x|x=24n. neN} (1)
{x|x=12nineN} (2)

{x|x=2n: neN} (3)

Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 114 Question Id : 3944843655 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



If A= {p, g r s} then a relation on A. which is not transitive among the

following?

(1) 81 = {(p.q).(q.5), (p.s)}
(2) 82 = {(p.p).(q.q).(r.1)}
(3) 83 = {(p,q).(q.p).(p.p)}

(4) 64 = {(p.q). (r.5)}

Kl 21 A A= {p, q.r, 5) /]

81 = {(p.9). (g.5). (p.$)} (1)
62 ={(p.p).(@.9).(r.7} 2)
83 = {(p.©.(q.p). (2. P)} (3)

64 ={(p.q).(r.9)} (4

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 115 Question Id : 3944843656 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



If a set A has 6 elements, then the number of reflexive relations on A that are not

symmetric is

(1) 236 56
2) 30 _ 515

@ 27

Lunfiwd i n s A6l A set S

236 26 (1)
231} 21:‘. (:)
23':] l]l (3)

2% (&)

Options :
1. # 1
2.¥2
3.%83
4. % 4

Question Number : 116 Question Id : 3944843657 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



The equation of a line passing through the pomts (2. 5) and (4, 7) is

(1) 2x—3y-7=0
(3)x -y+3=D

(4) x+y+3=0

atalads(4, T2, 5.)j:'.!‘!a;:L'hi.—fi’fw.!r—“r'!lw‘-!/(UP.I_‘HUL-JL,JEE?"’?
_fﬁy’

2x—3y—7=0 (1)

3x+2y+7=0(2)

x -y+3=0(3)

x+y+3=0(4)

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 117 Question Id : 3944843658 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



An equation of a line passing through (4. 3) and making intercepts on coordinate

axes whose sum is equal to -1 1s

a5 T 8 : .3 4
1o u’?,ul;.d/ﬁfj: coordinate axes.s(4, 3) dxd.J 2etls L
I B
sl s L

x —y—1=0/(1)
x+3y—13=0(2)
2x—y—5=0(3)
x—2y+2=0(4)

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 118 Question Id : 3944843659 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



secl +tan 8 =

(1) cosB + sinf

1

) S  R—
sech —tand

: 1
3 gy
( j sect +itand

(4) cos@ — sing

secl +tan 8 =

cosf + sing (1)

1

secld —tanf

(2)

i
gech +tand (3)

cos@ — siné (4)
Options :
1. # 1
2.¥2
3. %3
4. % 4

Question Number : 119 Question Id : 3944843660 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



sin12%in24%sin48%ing4? =

1
W=
)
A ) T
(2) ;5
.3
(3) =
5
)
5in12%in24%sin48%ing4® =
1
7= (1)
2
RS )
5 (2
3
T (3)
3
kN
Options :
1L.¥1
2. % 2
3.% 3
4.% 4

Question Number : 120 Question Id : 3944843661 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Alpebraic and Geometrical Ability



H A-+-C=B.then tanA tanB. tanC=

(1)tan A—tan B—tan C
(2)tan B—tan C —tan A
(3)tanC—tan A —tan B

(4) tan A +tan B +tan C

A+C=B.then tanA. tanB.tanC=

tan A —tan B —tan C (1)
tanB—tan C —tan A (2)
tanC —tan A —tan B (3)

tan A +tan B +tan C (4)
Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 121 Question Id : 3944843662 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



A straight high way leads to the foot of a tower. Anil standing at the top of the
tower observes a car at an angle of depression 30%. Six seconds later. the angle of
depression of the car is found to be 60°. If the car is approaching the foot of tower
with a uniform speed. the tume taken by the car to reach the foot of that tower from

this. the later pomt (1n seconds)is

(1) 2
(2) 3
1
3) 33
4 4

_Q.J’.—T—J:fl_;rff.?,mu%é;nigt:ﬁufr.;,&fg"ﬂk{u’}xd”gu{!
- depression ,;UK;KJMZ.GMJ—-D 30° depression - psi LK
Touch L;U*.‘:_-.ufufl?-_f.ggj/ w ﬂﬁﬁv[.;fbub@&”ﬁ.;.wﬁﬁﬂﬂ

-;t‘ﬁz!ﬁ'ﬂﬂ;b‘;@:(if.i./r

1
3z ()
4 (4)
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 122 Question Id : 3944843663 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Algebraic and Geometrical Ability

If a+b+c=15 anda®+b%*+c¢? =77 thenab + bc+ca

(1) 85
(2) 81
(3) 72

(4) 74

ab+bc+ca= = a+b+c=15

Options :
1. # 1
2. %2
3.%3
4. ¥ 4

- a’ +b%+¢?

=77

Question Number : 123 Question Id : 3944843664 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



If x*+6x° + ax®+ 12x + b is a perfect square. then 3a —2b =

i ¢ psquare Sl xt+6x3+ ax®?+12x+b

3a—2b =
47 (5)
19 (6)
31 (7)
28 (8)
Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 124 Question Id : 3944843665 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



If the remainder when a certain nteger x 15 divided by 5 1s 2, then each one of the

following could also be an integer. except

_/-’;.ufcfrlﬁ-;.,ry:2?£.¢g_u/[‘:}n;.S/intcger xL 208

L LIz vExinteger re }3

=)

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 125 Question Id : 3944843666 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



The remainderif 73x74x 75x 76 1s divided by 14 1s
(1) 13
) 12
(3) 10

(4) 9

I S 14973 x T4 x 75 x 76410

13 (1)
12 (2)
10 (3)
94

Options :
1. % 1

2. %2
3.¥3
4. % 4

Question Number : 126 Question Id : 3944843667 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Algebraic and Geometrical Ability



ot g d g B pend =%. then (x,y) =

x+y x—y ity x—y
(1) (-5.-3)
@) (3,-5)
3) (3.5)
(4) (5. 3)
- - 4 3 8 1 1 #
_fﬁy(x,y) —.!'m—l‘;—z, m—m—z v
(-5,-3) (1)
(3.-5) @)
3.5 3
(5.3) (4)

Options :
1. # 1
2. %2
3. %3
4. ¥ 4

Question Number : 127 Question Id : 3944843668 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



: 7 - . . 2 - . .
If the difference of g th of a positive integer and == of the same positive integer is 6.

then the number of distinct primes that divide that positive mnteger is

(1)1
) 2
(3) 3

(4) 4

T o 5 w7 .
positive ﬂﬁﬁdﬁﬁntegcrwﬁﬁm.ﬁdfﬁﬁ11tcgc1':,.;~.,g

=

- - . * r 1 (=
sl pl']lTlCSL-'s‘G'--‘" r{y! integer

1 (1)

2(2)
3(3)
4 (4)

Options :

1. % ]

2.% 2

3.¢¥3

4. % 4

Question Number : 128 Question Id : 3944843669 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



The sum of the infinite G.P. 15

g 20 80 320
"7 '49" 343"
2
(1) 5
P -
iy Tt
(<) 3
100
G) =
L 113
(4) =
et $G.P.u# L
20 80 320
Y e
7 "49°' 343
25
3@
35 .
ey
100
-
113
7
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 129 Question Id : 3944843670 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



The sum to mnfinite terms of a G.P. 15 15 and the sum of their squares 15 150. If r1s

the common ratio of the G.P. . then 1007°=

G PRV 1506 Csquaressise 15 08 ZG.P. L

100/=—T e

4(1)
8(2)
12 (3)
16 (4)

Options :

1.v 1

2. %2

3.%3

4. % 4

Question Number : 130 Question Id : 3944843671 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



The numerically greatest term in the expansion of (2x — 3y)%2,
whenx=1.y= ; 15

(1) 8

() 9

(3) 10

(4) 11

) " 5 - :
Kl ebuiix=1, y= s (2x — 3y sty e e A1

8 (1)
9(2)
10 (3)
11 (4)

Options :

1. # 1

2. %2

3.¢¥3

4. % 4

Question Number : 131 Question Id : 3944843672 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



7
. . . . s 1
The term independent of x mn the expansion of 1s (3_‘(3 = 2_")
X

(1) No term 1s independent of x
(2) Sﬂl term
(3) 4™ term

(4) 3% term

7 ar Y
(3x3 — E;r%) r_'-J) ﬁLE:JfJﬁi xﬁf_,U-L""’l_g

b(/}’i'}!}T;-K}KM (] )

14 5B (2)
44" (3)
24637 (4)

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 132 Question Id : 3944843673 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



A square matrix A is called an orthogonal matrix if A satisfies

(AT =4
(2) AT =—A4
(3) AT =471
(4) AT = A?

e/ 9@/ S Af!ugz'l'_"./ orthogonal matrixsy A = squarcL|

=

AT = A (1)

AT =—4 (2)

AT =471 (%)

AT =A% (4

Options :

1. %1
2. %2
3.¢3
4, % 4

Question Number : 133 Question Id : 3944843674 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Algebraic and Geometrical Ability



A 1s a 3 x 3 matnx and B 1s 1ts adjomnt matrix. If the determinant of B 1s 64, then the

determinant of A 1s

(1) 4
(2) +4
(3) 8

(4) =8

64 - determinant ¥xadjoint matrixs” B.siA is a 3 x 3 matrix |

_¥wi/determinant AJs

4 (1)

4 (2)
8 (3)
=8 (4)
Options :
1. % 1
2. %2
3.%3
4.¥ 4

Question Number : 134 Question Id : 3944843675 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



lim, o(Vx2+x+1— Vx2+1)=

(1) oo
(2) -1
.
(3)3
(4) 1
myne (Va2 +x+1— Vx2+1)=
o (1)
-1(2)
1
5 )
1(4)
Options :
1. %1
2. %)
3.¥3
4. % 4

Question Number : 135 Question Id : 3944843676 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



If 3x2 + 2xy + y2 =6, then ji at (-1, 2) is
X

(1) 0
. 1
[2)5
(3) 1

() %

S U, 2,);_,3:{2 + 2xy + y? 6_}'% at)

0 (1)
5 (@)
1 (3)
3
;@

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 136 Question Id : 3944843677 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



A right angled triangle 15 to be constructed such that the sum of lengths of
perpendicular sides can’t be greater than 24cm and the area 1s to be maximum.

Then the length of hypotenuse (in em) 1s

(1) 36
(2) 18
(3) 18+/2
(4) 1242

Foie g 2524 2680 NLL A Sy e ds L))
_?J}’:‘JHL,‘{h}f[){}tl'.‘l‘illﬂf."_!Ea}_l:.?c.n}_k:.}é,rggrbﬂgcﬁ
36 (1)
18 (2)
182 (3)

12v2 (4)

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 137 Question Id : 3944843678 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Algebraic and Geometrical Ability



The diagonals of a trapezium PQRS interect at the point A. If the ratio PA : PR 1s

3 : 7. then the ratio of lengths of its parallel sides 15

(1)3:7

(2)4:7

=953 : TSIPA : PRe S /8 (A LPQRS o LK

e Bt S8 s

307 (1)
4:7 (2)
3:4 (3)

[ B}

: 7 (4)
Options :

1. %1

2. %2

3.¢¥3

4. % 4

Question Number : 138 Question Id : 3944843679 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



Options :
LY
2. %2
3.% 3
4. % 4

Two cireles have radii 13cm and 29cm. and the distance between their centres 1s

15 em. then the number of common tangents that can be drawn to the two circles is

Senl S pudnatu 2§ 2950 2513 Radit L5 s
_UF‘K_L:-'GLA;"JTHH“:EC]T[S f;ﬁ”,ﬁ_;:.u/‘-:f 15
0 (1)
1(2)
2 (3)

4(4)

Question Number : 139 Question Id : 3944843680 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



If the points A(3. 2): B(-3. 2) and C(0. h) form the verticies of an equilateral

triangle. then one value of h 1s
A(3.2y; B(3.2) C(0.h)3—2V3
(1)3-3V3
(2)2—3V3
(3) 3V3
(4) 243

Jund SJE Sumt als Lie C0, NB(-3,2) ‘A, 256/}

-pfxyf:‘é'd/ h
3—3V3 (1)
2—3v3 (2)
3v3 (3)
2V3 @)
Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 140 Question Id : 3944843681 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability



The distance of point (a, b) to the line ax + By + y = 0 1s

; athb
N N

[._)) a+p
T WaZ+h2

ace +BF +y
JaZ1p?

(3)

’ ac +bf +y¥
['4:] Vai4hb? ]

-g,t:c_u’ffi;,{hﬂ(ﬂ. b)tothelincax + By +y =0 S 108

a+b
Jm (l}

a+f

Vel @

ac 4B +y
| &)

ac +bf +y

Vai+b2

Options :

1. % 1

2.% 2

3.3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 394484370
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 3944843682 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

e 0L



The mean of the following frequency distribution is

Class 0-4 (4-8|8-12 | 12-16 | 16-20

Frequency | 4 ) T 2 1

- i bsldistribution £

Class 0-4 | 4-8 | 8-12 | 12-16 | 16-20

Frequency | 4 6 7 2 1

6 (1)
8(2)
10 (3)
12 (4)

Options :

1. # 1

2.¥2

3.%3

4. % 4

Question Number : 142 Question Id : 3944843683 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statistical Ability

e 0L

Which one of the following 1s NOT true?

(1) Mode 1s not affected by change of origin and scale.

(2) Mean 1s atfected by change of origin and scale.

(3) Median 1s affected by change of origin and scale.

(4) Standard deviation 1s not affected by change of origin and scale.

G et

e Fe Modea 4 Siuemile (1)

= t‘ffﬁf.;,qpﬁdl;,dfqum;h (2)
é‘r k- Taw '

-'?-—Jt'f;; ¥ Uzﬂ-::_J_'. A L,‘l:‘Ld:-‘J}JJE, (3)

-r,gu.?’}‘!,;S.D ;.L,J"_'_Eu{i,a_.-*ﬂl..‘«@ 4)

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 143 Question Id : 3944843684 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

b A



If the mean and Mode of a data are 97 and 100 respectively. then the Median 1s

(1) 97
(2) 98
(3) 99

(4) 101

Kt/ Mediank i3 100,597 Jses? Mode  sth-siEsts* L

97 (1)
98 (2)
99 (3)
101 (4)

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 144 Question Id : 3944843685 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

e 0L



The variance of 147. 149, 151, 153, ... . 183 is
(1) 120
(2) 90

(3) 60

147,149, 151, 153, ... 1830/ P rwl/variance  §U1e el L3

120 (1)
90 (2)
60 (3)
30 (4)
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 145 Question Id : 3944843686 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

b 0L



The standard deviation of three consecutive integers 1s

(V3

(2) ‘E
o

@) V2

/0S8 D i

V3 (1)

2
3 @)
V2 (4)
Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 146 Question Id : 3944843687 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

e 0L



The rank correlation for the following data 1s

Y (1812|108 |75

(1) -1
(2) 0.96
(3) 0.93
(4) 1

- 55 pshes yank con‘elation:..ut_i_«-”

Y (18|12 |10(8 |7 | 5

-1 (1)

0.96 (2)
0.93 (3)
1 (4)
Options :
1.9 1
2.% 2
3.% 3
4. % 4

Question Number : 147 Question Id : 3944843688 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

e 0L



If A and B are events with P(A) = 0.5. P (B) = 0.4 and P(A[B) = 0.3. then the

probability that neither A nor B occurs 15

(1) 0.4
(2) 0.6
(3) 0.5
(4) 0.3

If A and B are events with P(A) = 0.5. P (B) = 0.4 and P(ANB) = 0.3. then the
probability that neither A nor B occurs is
- 3.5 a sl probabilityei 4 T
04 (1)
0.6 (2)
0.5 (3)
03 4

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 148 Question Id : 3944843689 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Statistical Ability

e 0L



A problem in statistics 15 given to three students A.B and C whose chances of
. A 1 1 1 . -
solving it independenily are > 3 and 4 respectively. The probability that exactly

one of them i1s able to solve that problem is

M5

(2) =

B

@ 5
I T 1.3 . - . i i "
s, Edlriﬁ;ful‘l.u‘?’yiu’x,B!( S e LI =
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9
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24 2)
7
22 )
1
74

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 149 Question Id : 3944843690 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

e 0L



In a simultaneous throw of two dice. the probability of getting a total of 10 or 11 1s

M3

I
.3,
@) 36

B £ S 110k o ULES dicess

1
£ ()
5
it 49
2 @)
7
7 3)
1
5q b3)
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 150 Question Id : 3944843691 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability

e 0L



If the letters of the word MINISTER. are permuted at random, then the probability

that all three vowels come together 15

(1) =

)2

=7 28
3
(3) e

@) >

vowels £/ permuted ¢ random ¥ MINISTERS.

g rxyﬁ probabilityl/ S

3
= ()
3 $ ]
28 (-)
3
72 )
3

(@

Options :

1. # 1

2.¥2

3.% 3

4. % 4

Communication Ability

Section Id : 30448454

Section Number : 3

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 38

Number of Questions to be attempted : 38

Section Marks : 50

Mark As Answered Required? : Yes

Sub-Section Number : 1

Sub-Section Id : 394484371

Question Shuffling Allowed : Yes



Question Number : 151 Question Id : 3944843692 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Importune

(1) Urge
(2) Poor
(3) Indecisive
(4) Important
Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 152 Question Id : 3944843693 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Mercurial

(1) Forgetful
(2) Changeable
{3) Chemical
(4) Weather

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 153 Question Id : 3944843694 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Egress

(1) Short cut
(2) Enfrance
(3) Backwards
(4) Exit

Options :

1. # 1

2. %2

3.%3

4.9 4

Question Number : 154 Question Id : 3944843695 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Shambles

(1) Bubble
(2) Confusion
(3) Trouble
(4) Cuddle

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 155 Question Id : 3944843696 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Belligerent

(1) Aggressive
(2) Mournful
(3) Longing
(4) Cheerful

Options :
1.¥1



2. %2
3. %3
4. % 4

Question Number : 156 Question Id : 3944843697 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Circumvent

(1) Encompass
(2) Invent
(3) Prevent
(4) Convert
Options :
1. % 1
2.% 2
3.¥3
4. % 4
Sub-Section Number : 2

Sub-Section Id : 394484372
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 3944843698 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The ongoing festivities the peace of the neighbourhood

(1) Distracted
(2) Deferred
(3) Disturbed
(4) Distressed

Options :

1. % 1

2. %2

3.¥3

4. % 4



Question Number : 158 Question Id : 3944843699 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Swarna has a for science. while her brother is more interested in the arts.

(1) Tenet

(2) Geniality
(3) Resonance
{4) Penchant

Options :
1. # 1
2. %2
3.%3
4. ¥ 4

Question Number : 159 Question Id : 3944843700 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He knows many languages. He is a

(1) Polytheist
(2) Polygamist
(3) Polyphomnist
(4) Polyglot

Options :
1. # 1
2. %2
3.%83
4. ¥ 4

Question Number : 160 Question Id : 3944843701 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Netizens decried the with which the government doctor treated the patients.

(1) Compassion
(2) Complaisance
(3) Hunger
{(4) Callousness
Options :
1. % ]
2.% 2
3.% 3
4.4 4
Sub-Section Number : 3
Sub-Section Id : 394484373
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 3944843702 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A small piece of semiconductor used to carry integrated circuits is known as

(1) Micro computer
(2) Microchip
(3) Microdot
{4) Microfilm
Options :
1. # 1
2.¥2
3. %3
4. % 4

Question Number : 162 Question Id : 3944843703 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /

Preposition



To obtain or retrieve information from a storage device is known as

(1) Access
(2) Adapter
(3) Add-on
(4) Address

Options :
1.¥ 1
2.% )
3.%3
4. % 4

Question Number : 163 Question Id : 3944843704 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Inventor of daisy wheel printer is

(1) Andrew Marvel
(2) Joseph Edison
(3) William Caxton
(4) David S Lee

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 164 Question Id : 3944843705 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A socket on a computer into which an external device can be plugged in is known as

(1) Point
(2) Port
(3) Pointer
(4) Post

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 165 Question Id : 3944843706 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

ASCTI is expanded as

(1) Australian Standard Computing Interational Interchange
(2) American Software Computer Interlining Interface

(3) American Standard Code for Information Interchange

(4) Automatic Standard Code for Information Initiative

Options :
1. # 1
2.% 2
3.¥3
4. % 4

Question Number : 166 Question Id : 3944843707 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Analysing and solving serious problem for a company or organisation is called

(1) Arbitrating

(2) Trouble shooting
(3) Trouble making
(4) Mediating

Options :



1. %]
2.¥2
3. %3
4. % 4

Question Number : 167 Question Id : 3944843708 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Encryption is being used primarily with

(1) Transaction entry
(2) Computer processing
(3) Data communication
(4) File retention.
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 168 Question Id : 3944843709 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A Model in which one physical property is used to represent another physical
property is known as
(1) Analog Model
(2) Deterministic Model
(3) Iconic Model
(4) Decision Theory Model
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 169 Question Id : 3944843710 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

is not a peripheral of a computer.

(1) Keyboard
(2) CPU

(3) Printer
(4) Scanner

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 170 Question Id : 3944843711 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

is a trade test.

(1) Interview

(2) Interest test

(3) Aptitude test

(4) Achievement test

Options :

1. % 1

2. %2

3. %3

4. 4

Sub-Section Number : 4
Sub-Section Id : 394484374
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 3944843712 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A After finishing your Marine Engineering degree course. what do you think vou'll
do?

B: It is difficult for me to answer for I'm quite at sea

In this conversation B implies that he is

(1) Unwell

(2) Displeased
(3) Perplexed
(4) In danger

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 172 Question Id : 3944843713 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

PT Usha bore away the gold medals in all track events.
The underlined phrasal verb means:

(1) Sustained
(2) Won
(3) Missed
(4) Narrowly missed
Options :
1. # 1
2.¥2
3.%3
4. % 4

Question Number : 173 Question Id : 3944843714 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Our new office is equipped with all the latest gadgets. What is the meaning of ‘equip
with’ ?

(1) provide
(2) get rid of
(3) spoil

(4) tamper

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 174 Question Id : 3944843715 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A: The people in the organisation were bent upon exhibiting their superiority.
B: Multiplicity of leadership gives way to decline.

A: True. too many cooks spoil the broth.

‘A means that

(1) There should not be more than one cook in the kitchen
(2) Many cooks made better gruel

(3) No organisation can afford too many bosses

(4) An organisation thrives on confrary opinions

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 175 Question Id : 3944843716 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

With Ramana’s new venture failing completely. he is down in the dumps.

The underlined expression means. Ramana

(1) Fell from grace

2) Packed up

(3) Is bed-ridden

{4) Appeared miserable

Options :
1. % 1
2.%2
3.%3
4.9 4

Question Number : 176 Question Id : 3944843717 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A rough and clumsy person is considered

(1) A horse in a French shop

(2) A dog in the mall

(3) An elephant in a German store
(4) A bull in a China shop

Options :
1. % 1
2. %2
3.%3
4. 4

Question Number : 177 Question Id : 3944843718 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The authorities took him fo fask for his negligence.

The underlined expression means

(1) Reprimanded him
(2) Forced him to resign
(3) Gave him additional work
(4) Suspended his assigmment
Options :
LY
2.% 2
3.% 3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 394484375
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 3944843719 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He has been writing a letter three hours.

(1) Since
(2) By
(3) For
(4) At

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 179 Question Id : 3944843720 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

I will go home the end of the movie

(1) In
(2) At
(3) On
(4) About
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 180 Question Id : 3944843721 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The noise interferes my work

(1) With
(2) At
(3) In
(4) On

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 181 Question Id : 3944843722 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



I saw him as I down the lane

(1) Go
(2) Going
(3) Was going
(4) Is going
Options :
1. % ]
2. %2
3.¢3
4. % 4

Question Number : 182 Question Id : 3944843723 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He seems to be . I saw him in an expensive suit.

(1) Better off
(2) Well of
(3) Best off
(4) Well off

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 183 Question Id : 3944843724 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He has as CEO of the organization very recently

(1) Taken off
(2) Taken over
(3) Taken up
(4) Taken in



Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 184 Question Id : 3944843725 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Thanks to the good food in hostel. Raju some weight.

(1) Put on
(2) Put up
(3) Put up with
(4) Put down
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 185 Question Id : 3944843726 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

We the matter for an hour but without any result.

(1) Talked out of
(2) Talked over
(3) Talked back
(4) Talked down

Options :

1. % 1

2.9 2

3.%3

4. % 4

Sub-Section Number : 6



Sub-Section Id : 394484376
Question Shuffling Allowed : Yes

Question Id : 3944843727 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (186 to 190)
Read the following passage and answer questions

Patriotism is a very complex feeling. built up out of primitive instincts and highly
intellectual convictions. There is love of home. family and friends. making us
peculiarly anxious to preserve our own country from invasion. There is the mild
instinctive liking for compatriots as against foreigners. There is pride which is bound
up with the success of community to which we feel that we belong. There is a belief.
suggested by pride but reinforced by history that one’s own nation represents a great
tradition and stands for ideals that are important for human race. But besides all these.
there is another element. at once nobler and more open to attack. an element of
worship. of willing sacrifice. of joyful merging of the individual life with the life of
the nation. This religious element in patriotism is essential to the strength of the State
since it enlists the best that is in most men on the side of national sacrifice.

Sub questions

Question Number : 186 Question Id : 3944843728 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
We try to protect our country because?

(1) We love our home, family and friends

(2) We love outsiders

(3) We love outsiders as much as we love ourselves
(4) We think outsiders as our own

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 187 Question Id : 3944843729 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The word ‘compatriot’ means

(1) Fellow countrymen
(2) Fellow human beings
(3) Fellow villagers

(4) Fellow townsmen



Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 188 Question Id : 3944843730 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about patriotism is false according to the passage?

(1) It is a noble belief

(2) It expects sacrifice

(3) It is an invulnerable idea

(4) It is essential for the strength of the State

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 189 Question Id : 3944843731 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The attitudes of the speaker of the passage is?

(1) Satirical

(2) Analytical
(3) Persuasive
(4) Disapproving

Options :
1. # 1
2.9 2
3.%3
4. % 4

Question Number : 190 Question Id : 3944843732 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is false?

(1) We often like our countrymen than others.

(2) There 1s a religious element in patriotism.

(3) Our patriotism is directly linked to the success of our country.

(4) We believe that all nations epitomize ideals that are important for human race.

Options :

1. % 1

2. %2

3.%3

4. v 4

Sub-Section Number : 7
Sub-Section Id : 394484377
Question Shuffling Allowed : Yes

Question Id : 3944843733 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (191 to 195)
Read the following passage and answer questions



A Study found that music therapy sessions have a positive effect on the
neurorehabilitation of acute stroke patients. The research was carried out on a 26-bed
stroke and rehabilitation unit at a hospital in the UK. In total. 177 patients took part
in 675 Neurologic Music Therapy (NMT) sessions over a two-year period. According
to the researchers, music therapy is understood to help stroke patients through mood
regulation. improved concentration. and promoting changes in the brain to improve
function. known as neural reorganisation. Lots of repetition or “massed practice™. 1s
central to neurorchabilitation. In addition to playing physical instruments (keyboard.
drums and hand-held percussion). touch screen instruments were used in the trial to
help patients with hand rehabilitation, through improving finger dexterity, and
cognitive training.

NMT sessions were run alongside existing stroke rehabilitation treatment. including
physiotherapy. occupational therapy, speech therapy. and clinical psychology. Of the
139 patients, relatives and hospital staff who completed mood-scale questionnaires,
the average response was that NMT was helptul or very helpful. And ofthe 52 patients
who completed mood-scale questionnaires. there was a reduction in sadness and an
increase in happy responses immediately following a session. Speech and language
therapists observed a positive impact on patient engagement and reported that it may
help patients overcome low mood and fatigue — both commen following stroke — and
therefore be beneficial for their rehabilitation.

*The fact 675 sessions were carried out in two years is in itself an indication of the
success of the treatment. If shows that staff are referring patients because they
understand the mechanisms of the exercise and can see how it can benefit their
patients. It also shows that patients are willing to do the exercises, with each one
participating in an average of five sessions”. a researcher said.

Sub questions

Question Number : 191 Question Id : 3944843734 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the duration of the research experiment?

(1) 26 weeks

(2) Omne year and eight months
(3) Two years

(4) Five years

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 192 Question Id : 3944843735 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

How many sessions of the therapy were carried out?

(1) 52

(2) 675
(3) 177
(4) 139

Options :
1. # 1
2.¥2
3.%3
4. % 4

Question Number : 193 Question Id : 3944843736 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s central to the rehabilitation process?

(1) Repetition

(2) Mood swings
(3) Happy responses
(4) Finger dexterity

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 194 Question Id : 3944843737 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many patients respond to the mood-scale questionnaires?

(1) 177
(2) 26
(3) 139
(4) 52

Options :

1. % 1

2.% )

3.%3

4.9 4



Question Number : 195 Question Id : 3944843738 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which fact is not mentioned as evidence of the success of the research?

(1) More patients were being referred

(2) More patients were willing to do the exercises
(3) Each patient did the exercises without fatigue

(4) Each patient took part in an average of 5 sessions

Options :

1. % 1

2. %2

3.3

4. % 4

Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

8
394484378
Yes

Question Id : 3944843739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No
Question Numbers : (196 to 200)
Read the following passage and answer questions



Thailand brings to mind turquoise blue waters, highest landscapes. and thriving
wildlife. My journey began at Don Muong airport as I took the flight to Phuket.

The first day had me travelling to Big Buddha. one of the revered landmarks on the
island. It sits atop a hill and is a 45-meter-tall white marble statue of Buddha. Driving
up hill I came across an elephant safari and opted not to do the ride for ethical reasons
but you could go feed the elephants. play with them and that truly was out of the world.
The elephants were tamed and did the sweetest actions like kissing the tourists. asking
for food and I would like to believe that they did it of their own accord. The elephant
I'met was called Anda and he was a baby. terribly cute and his mannerisms were unlike
any animals I have seen. The route is dotted with many cafes that have a spectacular
view of the ocean and a nice mocktail coupled with the cold breeze and the sounds of
waves was a beautiful way to spend the afternoon.

Phuket was all about exploring beaches and the best part is that it is so close to the
many other islands that are just a boat trip away. I decided to go on an island-hopping
adventure and took a speed boat to the first island. Panak. In one of the many islands
on Phang Nga Bay the resort owner told me that the experience would be like no other.

The island had limestone formations and looked absolutely stunning. We had to take
a look at the island from the boat. As the boat went close to the rocks. I observed
something moving in the water, it jumped back on to the rock. It was a monkey. The
island had monkeys around that very simply jumped into the water, swam and come
back on the rocks. For someone who encountered monkeys in the wild as notorious
little animals that mostly live on trees. this was pretty fascinating. It wasn’t the
monkeys but the landscape they lived in that had us, many Indians included. in awe.

Sub questions

Question Number : 196 Question Id : 3944843740 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the name of the first island on the island-hopping trip?

(1) Phuket

(2) Don Muong
(3) Phang Nga
(4) Panak

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 197 Question Id : 3944843741 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Where, according to the writer. should one spend one’s afternoons?

(1) In a boat
(2) At acafe
(3) On a hill
(4) At the beach

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 198 Question Id : 3944843742 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the Big Buddha made of?

(1) Marble
(2) Stone
(3) Metal
(4) Wood

Options :
1.¥1
2.%2
3.%3
4, % 4

Question Number : 199 Question Id : 3944843743 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The unusual feature the writer noticed during the boat trip was

(1) Man-made rock formations
(2) People on peaceful beaches
(3) Monkeys

(4) Colourful view of the ocean

Options :
1. # 1
2. %2
3.¥3



4. % 4

Question Number : 200 Question Id : 3944843744 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why did the writer decide not to undertake the elephant ride?

(1) The writer preferred to stay far away from all animals
(2) The writer played with them from a distance

(3) The writer wanted to watch the tourists feeding them

(4) The writer did not approve of the taming of the elephants

Options :
1. %1
2. %2
3.%3
4. v 4



